Supplementary Table 2. Statistical Analyses

1. Figure 1b SPT
a. Genotype x Enriched Environment Treatment Effects

Two-way Genotype Treatment Genotype X | Post hoc Bonferroni Test Post hoc Bonferroni Test
ANOVA Effects Effects Treatment Genotype Effects (WT vs KIV) | Treatment Effects (SCT vs EET)
Interactions | SCT EET WT KIV
—_ Pre F(l,sﬁ) =8.2 F(l,sﬁ) =84 F(l,sﬁ) =17.0 Tzs =39 ng =0.15 ng =0.18 Tzs =39
a ° P <0.01 P <0.005 P <0.05 P <0.001 P>0.05 P>0.05 P <0.001
L \: § Post F(l,sﬁ) =16.7 F(l,sﬁ) =54 F(l,sﬁ) =4.6 Tzs =44 ng =14 ng =0.1 Tzs =3.2
i é P <0.001 P <0.05 P <0.05 P <0.0001 P>0.05 P>0.05 P <0.01
T&; 8- Pre F(l,56): 1.9 F(l,56) =3.0 F(l,sﬁ) =14.5 Tzs =3.7 ng =17 ng =15 Tzs =39
= E = P=0.17 P=0.09 P <0.001 P <0.01 P>0.05 P>0.05 P <0.001
8 g Post F(l,sﬁ) =8.9 F(l,56) =13 F(1’55) =9.2 Tzs =43 ng =0.03 ng =14 Tzs =29
= P <0.005 P=0.17 P <0.01 P <0.001 P>0.05 P>0.05 P <0.01
—_ Pre F(l,56) =24 F(l,56) =1.5 F(l,sﬁ) =6.2 Tzs =29 ng =0.66 ng =0.88 Tzs =2.6
; ° P=0.12 P=0.22 P <0.05 P <0.05 P>0.05 P>0.05 P <0.05
;: § Post F(1’49) =17.9 F(1’49) =55 F(1w49) =1.1 Tzs =29 Tz] =1.1 ng =0.92 Tzs =24
= P <0.01 P <0.05 P=0.31 P <0.05 P>0.05 P>0.05 P <0.05
fl) ° Pre F(l,56): 2.7 F(l,56) =1.6 F(l,sﬁ) =4.5 Tzs =2.7 ng =0.34 ng =0.59 Tzs =24
g = P=0.11 P=0.21 P <0.05 P <0.05 P>0.05 P>0.05 P <0.05
>? g Post F(1,56)= 4.3 F(l,56) =0.2 F(l,56) =50 Tzs =3.1 ng =0.12 ng =12 ng =19
= P <0.05 P=0.63 P=0.03 P <0.01 P>0.05 P>0.05 P>0.05
Pre F(l,56) =1.8 F(l,56) =24 F(l,sﬁ) =4.5 Tzs =24 ng =0.55 ng =0.40 Tzs =2.6
< ° P=0.19 P=0.12 P <0.05 P <0.05 P>0.05 P>0.05 P <0.05
9 § Post F(l,56): 2.4 F(l,56): 1.6 F(1,56)= 4.0 Tzs =25 ng =0.31 ng =0.52 ng =23
= P=0.13 P=0.22 P <0.05 P <0.05 P>0.05 P>0.05 P>0.05
;% Pre F(l,sﬁ) =5.0 F(l,sﬁ) =43 F(l,56) =27 Tzs =2.7 ng =042 ng =0.31 Tzs =2.6
=) = P <0.05 P <0.05 P=0.11 P <0.05 P>0.05 P>0.05 P <0.05
o g Post F(l,56): 2.2 F(l,56): 0.03 F(1,56)= 8.2 Tzs =3.1 ng =1.0 ng =19 ng =2.1
F= P=0.15 P=0.87 P <0.01 P <0.01 P>0.05 P>0.05 P>0.05
Student’s &= | WI-SCT vs. KIV-EET WT-SCT vs. KIV-EET-SCT
test ED YA OA ED YA OA
Male P=0.97 P=0.11 P=0.82 P=0.74 P=0.72 P=0.81
Female P=0.81 P=0.07 P=0.76 P=0.17 P=0.90 P=0.40

2. Supplementary Figure 1 Age Effects on Sucrose Preference
a. Age effects on genotype (Suppl. Fig. 1a)

One-way ANOVA Age Effect (ED YA OA)
% WT Male P = 0.745
Female P=0.671

b. Genotype x age effects on EET effects (Suppl. Fig. 1b and 1¢)

Two-way ANOVA Genotype Effects Age Effects Genotype X Age
Interactions
Male F(l,84) =50.6 F(2, 84) = 2.1 F(2,84) =047
Pre (T1) P <0.001 P>0.05 P>0.05
Female F(lwgg,) =46.6 F(2, 83) = 0.04 F(2,83) =0.14
P <0.001 P>0.05 P>0.05
Male F(1w77) =134 F(2, 77 = 0.27 F(2w77) =0.37
P <0.001 P>0.05 P>0.05
Post (T2) Female F(l,84) =445 F(2, 84) = 1.9 F(2,84) =4.02
P <0.001 P>0.05 P <0.05




3. Fig. 2 Total BDNF mRNA (exon [Xc)
a. Basal level (Fig. 2a)
Genotype x age effects

Two-way | Genotype | Age Genotype Post hoc Bonferroni multiple comparisons
ANOVA | Effects Effects | XAge [ Genotype Effects (WT vs. KIV) Age Effects (ED, YA, OA)
f:;tera““’ ED YA OA WT KIV
ED ED YA ED ED YA
Vs Vs Vs Vs \ \
YA OA OA YA OA OA
F(1, 90) = F(z, 90) = F(z, 90) = Ty=4.7 | T30=49 | T30=3.9 | Tao= | Tso= | Tso= | Tso= | Tao= | Tao =
Hippocampus 60.5 0.11 0.28 P< P< P< 0.16 0.09 0.25 0.03 0.71 0.74
P <0.001 P>0.05 P>0.05 0.001 0.001 0.001 P> P> P> P> P> P>
0.05 0.05 0.05 0.05 0.05 0.05
F(1, 90) = F(z, 90) = F(z, 90) = T3 = T3 = T3 = T30 = Ti= | T3p= | T3 = T30 = T30 =
Frontal Cortex 369 7.8 9.0 14.0 11.2 8.03 2.1 5.7 3.6 0.74 0.31 0.42
P <0.001 P <0.001 | P<0.001 P< P< P< P> P< P< P> P> P>
0.001 0.001 0.001 0.05 0.001 | 0.01 0.05 0.05 0.05

b. BDNF induction by EET (T1) (Fig. 2b)

EET x age effects
Two-way | EET Age EET X Post hoc Bonferroni multiple comparisons
ANOVA | Effects Effects i"gte t_ EET Effects (EET vs. SCT) Age Effects (ED, YA, OA)
e D YA OA EET
ED vs YA ED vs OA YA vs OA
% F(l, 38) = F(l, 38) = F(2, 38) = T13 =2.61 T13 =2.63 T13 =3.78
(=" WT 27.1 0.59 0.41 P <0.05 P <0.05 P <0.01
% P <0.001 P>0.05 P>0.05
8.4 F(l, 38) =35 F(l, 38) = F(2, 38) = le =3.39 T13 =3.80 T13 =1.29
E‘ KIV P <0.001 0.18 0.14 P <0.01 P <0.01 P <0.05
P>0.05 P>0.05
F(l, 2)= F(2, 42)= F(2, 42)= T14 =2.29 T14 =1.98 T14 =4.12
- WT 23.5 1.34 1.34 P>0.05 P>0.05 P <0.001
g 2 P <0.001 P>0.05 P>0.05
E 8 F(1’42) = F(z’ 2)= F(z’ 2)= T14 =4.60 T14 =0.55 T14 =0.92 T14 =4.05 T14 =5.33 T14 =0.184
KIV 5.96 7.35 8.16 P <0.001 P>0.05 P>0.05 P <0.01 P <0.001 P>0.05
P <0.05 P <0.01 P <0.01

Genotype x age effects

Two-way | Genotype | Age Genotype Post hoc Bonferroni multiple comparisons
ANOVA | Effects Effects | XAge [ Genotype Effects (WT vs. KIV) Age Effects (ED, YA, OA)
f:;tera““’ ED YA OA WT KIV
ED ED YA ED ED YA
Vs Vs Vs Vs Vs Vs
YA OA OA YA OA OA
F(l, 36) — F(z, 36) = F(z, 36) =
Hippocampus | 0.97 0.0007 2.6
P >0.05 P >0.05 P >0.05
F(1,42) = F(z, 2)= F(z, 2)= Tiu= Tiu= Ty= Tiu= Tiu= Tiu= Ty= | Tu= | Tu=
Frontal Cortex 9.20 4.38 12.1 1.69 1.69 5.25 0.34 | 2.03 237 | 3.73 4.92 1.19
P <0.01 P<0.05 | P<0.001 |[P>0.05 |P>005 |P< P> P> P> P< P< P>

0.001 0.05 0.05 0.05 0.01 0.001 | 0.05




c. Lasting BDNF induction by EET (T2) (Fig. 2¢c)

EET x age effects
Two-way | EET-SCT | Age EET-SCT Post hoc Bonferroni multiple comparisons
ANOVA | Effects Effects | XAge | EET Effects (EET-SCT vs. SCT- Age Effects (ED, YA, OA)
Interactio SCT)
ns ED YA OA EET-SCT
ED vs YA ED vs OA YA vs OA
n F(l, 38) = F(z, 38) = F(z, 38) =
2 | wr |0.03 0.63 0.79
g P >0.05 P>0.05 | P>005
8—4 F(1w3g) = F(2, 38) = F(z’ 38) = T13 =2.67 T13 =0.34 le =0.95 T13 =2.60 le =4.71 T13 =2.26
= KIV 0.58 5.23 6.28 P <0.05 P>0.05 P>0.05 P>0.05 P <0.001 P>0.05
= P>0.05 |P<001 |P<0.01
F, 40 = Foa= | Faan=
— . WT 3.62 0.80 0.80
g8 P> 0.05 P>0.05 | P>0.05
E 8 F(1,42) = F(2, 42)= F(z’ 2)= T14 =2.75 T14 =1.06 T14 =0.64 T14 =3.6 T14 =19 T14 =1.69
KIV 1.81 2.87 3.64 P <0.05 P>0.05 P>0.05 P <0.01 P>0.05 P>0.05
P >0.05 P >0.05 P <0.05
Genotype x age effects
Two-way Genotype | Age Genotype Post hoc Bonferroni multiple comparisons
ANOVA | Effects Effects i‘ ?ge o | Genotype Effects (WT vs. KIV) Age Effects (ED, YA, OA)
A TTED YA OA WT KIV
ED ED YA ED ED YA
Vs Vs Vs Vs Vs Vs
YA OA OA YA OA OA
F(1,40): F(z, 40) = F(z, 40) = Ti= Tiu= Ti;3= Ti3= Ti3= Tiu= Ti3= Tp= | Tiz=
0.75 5.39 0.36 1.00 0.62 0.16 1.50 1.65 0.16 1.93 2.83 0.16
Hippocampus | P> 0.05 P <0.01 P>0.05 P>0.05 | P>005 |P>005 |P> P> P> P> P< P>
0.05 0.05 0.05 0.05 0.05 0.05
F(1,42) = F(z, 2)= F(z, 2)= Tiy= Tis= Tis= Tis= Tis= Tis= Tiy= Tis= Tis=
14.1 34 4.21 2.75 1.28 0.73 0.18 2.17 1.99 3.07 1.62 1.45
Frontal Cortex | P <0.001 P <0.05 P <0.05 P<0.05 | P>005 |P>005 |P> P> P> P< P> P>
0.05 0.05 0.05 0.05 0.05 0.05




4. Supplementary Figure 2. Exon-specific BDNF transcription with SCT

Genotype x age effects on basal level

Two-way | Genotype | Age Genotype Post hoc Bonferroni multiple comparisons
ANOVA | Effects Effects i‘ fge o | Genotype Effects (WT vs. KIV) Age Effects (ED, YA, OA)
A D YA OA WT KIV
ED ED YA ED ED YA
\H \H \H \H \ \
YA OA OA YA OA OA
F(1, 87) = F(z, 87) = F(z, 87) = T30=88 | Ty9=6.0 | Ty7=88 | Tyg= | Tyy= | Tog= | Tap= | Tog= | Tog=
Exon | 186 9.78 2.98 P< P< P< 2.8 2.9 0.15 0.06 3.35 3.29
1 P <0.001 P<0.005 | P>0.05 0.001 0.001 0.001 P< P< P> P> P< P<
0.05 0.05 0.05 0.05 0.01 0.01
F(1, 88) = F(z, 88) = F(z, 88) = T3=8.1 | Tyo=8.1 | Ty=5.7 | Tog= | Tao= | Tog= | T3p= | Tag= | T30 =
la 160 1.75 6.19 P< P< P< 0.49 3.0 35 0.42 0.78 1.2
P <0.001 P<0.005 | P>0.05 0.001 0.001 0.001 P> P< P< P> P> P>
0.05 0.05 0.01 0.05 0.05 0.05
F(1, 88) = F(z, 88) = F(z, 88) = T30=77 | Ty9=6.1 | Tyo=52 | Too= | T3p= | Too= | Tsp= | Too= | Too =
b 120 4.6 1.45 P< P< P< 0.85 3,2 2.3 0.59 0.73 1.3
P <0.001 P <0.05 P>0.05 0.001 0.001 0.001 P> P< P> P> P> P>
0.05 0.05 0.05 0.05 0.05 0.05
F(1, 88) = F(z, 88) = F(z, 88) = T3 = Ty = Ty=81 | Tog= | T3p= | Tao= | T3p= | Too= | Too =
e 339 10.2 5.54 12.9 11.0 P< 1.2 5.3 4.0 0.51 0.61 1.11
P <0.001 P<0.005 | P<0.01 P< P< 0.001 P> P< P< P> P> P>
0.001 0.001 0.05 0.001 | 0.005 | 0.05 0.05 0.05
F(1, 89) = F(z, 89) = F(z, 89) = T3 = Ty=75 | T30=63 | Too= | T3p= | Too= | T3p= | Tap= | Tao=
2 I 190 8.8 35 10.0 P< P< 2.1 4.5 2.6 0.23 1.1 1.3
[ P <0.001 P<0.005 | P<0.05 P< 0.001 0.001 P> P< P> P> P> P>
% 0.001 0.05 0.001 | 0.05 0.05 0.05 0.05
& F(1,41)= 71 F(2,41) = F(2,41) = Ty=58 | T;3=52 | Ty=3.6 | Tz= | Tiu= | Tiz= | Tiy= | Tu= | Tu=
"m% v P <0.001 2.33 1.26 P< P< P <0.01 0.49 2.5 1.93 0.13 0.40 0.27
P>0.005 | P>0.05 0.001 0.001 P> P> P> P> P> P>
0.05 0.05 0.05 0.05 0.05 0.05
F(1, 88) = F(z, 88) = F(z, 88) = T2=3.6 | T3=1.0 | Tyg=24 | Tog= | Tao= | T3p= | Tsp= | Too= | Too =
VI 16.3 5.71 1.57 P <0.01 P>0.05 P>0.05 2.3 3.0 0.61 0.2 1.8 2.03
P <0.001 P<0.005 | P>0.05 P> P< P> P> P> P>
0.05 0.05 0.05 0.05 0.05 0.05
F(1, 89) = F(z, 89) = F(z, 89) = T30=76 | Ty=64 | T3p=4.4 | Tog= | T3p= | Tao= | T3p= | T3g= | T3o=
Via 112 8.35 1.57 P< P< P< 1.0 4.3 3.1 0.2 1.8 1.2
P <0.001 P<0.005 | P>0.05 0.001 0.001 0.001 P> P< P< P> P> P>
0.05 0.005 | 0.05 0.72 0.05 0.05
F(1, 89) = F(z, 89) = F(z, 89) = T30=68 | Ty9=55 | T30=3.9 | Too= | T3p= | Too= | Tsp= | Tag= | T30 =
VIII 60.0 5.14 2.15 P< P< P< 0.92 3.6 2.6 0.3 0.65 0.95
P <0.001 P <0.01 P>0.05 0.001 0.001 0.001 P> P< P> P> P> P>
0.05 0.01 0.05 0.05 0.05 0.05
F(1, 89) = F(z, 89) = F(z, 89) = T30=79 | Ty=63 | T30=4.9 | Too= | T3p= | Too= | Tsp= | Tag= | T3o =
IXa 122 6.33 2.16 P< P< P< 1.5 3.9 2.4 0.01 0.98 1.00
P <0.001 P <0.01 P>0.05 0.001 0.001 0.001 P> P< P> P> P> P>
0.05 0.05 0.05 0.05 0.05 0.05
F(1, 87) = F(z, 87) = F(z, 87) = Ty=9.0 | T30=5.7 | Tyo=5.6 | Tog= | Tog= | T3p= | Tsg= | Tao= | T30 =
I 138 11.1 4.00 P< P< P< 1.1 4.2 3.2 2.43 0.77 3.16
P <0.001 P<0.005 | P<0.05 0.001 0.001 0.001 P> P< P< P> P> P<
0.05 0.005 | 0.05 0.05 0.05 0.05
F(1, 90) = F(z, 90) = F(z, 90) = T30=82 | T30=6.9 | T30=6.4 | Tag= | Tsp= | Tsp= | Tsp= | Tsg= | Too =
la 154 1.39 0.88 P< P< P< 0.58 1.9 1.3 0.75 0.07 0.82
P <0.001 P <0.05 P>0.05 0.001 0.001 0.001 P> P> P> P> P> P>
% 0.05 0.05 0.05 0.05 0.05 0.05
g F(1, 90) = F(z, 90) = F(z, 90) = T30=4.6 | T30=4.7 | T3p=5.1 | Tag= | Tsg= | Tsp= | Tsp= | Tao= | Tao =
8 1Ib 68.7 0.30 0.08 P< P< P< 0.54 0.66 0.12 0.49 0.16 0.33
g P <0.001 P>0.05 P>0.05 0.001 0.001 0.001 P> P> P> P> P> P>
e 0.05 0.05 0.05 0.05 0.05 0.05
- F(1, 90) = F(z, 90) = F(z, 90) = T3 = T3 = T3 = Tso= | Tso= | Tso= | Tso= | Tso= | Tao=
e 288 1.03 0.76 10.8 9.55 0.09 0.12 1.1 1.2 1.3 1.1 1.2
P <0.001 P>0.05 P>0.05 P< P< P< P> P> P> P> P> P>
0.001 0.001 0.001 0.05 0.05 0.05 0.05 0.05 0.05
F(1, 90) = F(z, 90) = F(z, 90) = T30=85 | T30=88 | T3p=75 | Tso= | Tso= | Tso= | Tao= | Tso= | Tao =
I 173 0.353 0.78 P< P< P< 1.2 1.1 0.07 0.58 0.08 0.65
P <0.001 P>0.05 P>0.05 0.001 0.001 0.001 P> P> P< P> P> P>
0.05 0.05 0.05 0.05 0.05 0.05




F(1, 90) = F(z, 90) = F(z, 90) = T3=74 | T30=6.9 | T30=5.9 | Tsg= | Tsg= | Tso= | Tso= | Tso= | Tao=
v 135 1.87 0.58 P< P< P< 0.35 2.2 1.9 0.90 0.01 0.88
P <0.001 P>0.05 P>0.05 0.001 0.001 0.001 P> P> P< P> P> P>
0.05 0.05 0.05 0.05 0.01 0.05
F(1, 90) = F(z, 90) = F(z, 90) = T30=3.6 | T3=1.5 | T30=3.9 | Tso= | Tso= | Tso= | Tap= | Tso= | Tao =
VI 26.8 0.49 P <0.01 P>0.05 P< 0.37 0.71 1.1 1.7 0.35 1.35
P <0.001 P>0.05 P>0.05 0.005 P< P> P> P> P> P>
0.05 0.05 0.05 0.05 0.01 0.05
F(1, 90) = F(z, 90) = F(z, 90) = T3=73 | T30=6.1 | T3p=6.0 | T3g= | Tsg= | Tsp= | Tsp= | Tsg= | Tao=
VII 125 0.80 0.50 P< P< P< 0.10 1.1 1.0 0.40 0.17 0.89
a P <0.001 P>0.05 P>0.05 0.001 0.001 0.001 P> P> P> P> P> P>
0.05 0.05 0.05 0.05 0.01 0.05
F(1, 90) = F(z, 90) = F(z, 90) = T30=6.9 | T3=54 | T30=58 | Tsg= | Tsg= | Tso= | Tsp= | Tso= | Tao=
VIII 110 0.55 0.56 P>0.05 P>0.05 P< 0/61 1.1 0.45 0.85 0.06 0.91
P <0.001 P>0.05 P>0.05 0.001 P> P> P> P> P> P>
0.05 0.05 0.05 0.05 0.01 0.05
F(1, 90) = F(z, 90) = F(z, 90) = T3=78 | T30=6.7 | T30=6.2 | Tag= | Tsp= | Tsp= | Tsp= | Tso= | Tao =
IXa 142 0.73 0.65 P< P< P< 0.26 2.1 1.2 0.84 0.24 0.84
P <0.001 P>0.05 P>0.05 0.001 0.001 0.001 P> P> P> P> P> P>
0.05 0.05 0.05 0.05 0.01 0.05
One_way ANOVA Age Effects WT KIV
ED vs YA ED vs OA YA vs OA ED vs YA ED vs OA YA vs OA
< F(z’ 43)= 3.62 T29 =13 T29 =2.7 ng =14
g 2 exon IV (WT) P <0.05 P >0.05 P <0.05 P >0.05
Ba F(2,45): 2.63 T30 =0.40 T30 =1.8 T30 =22
= £ | IV-GFP (KIV) P> 0.05 P> 0.05 P> 0.05 P> 0.05
F(2,45): 3.62 T30 =0.37 T30 =0.30 T30 =0.66
g3 exon IV/(WT) P <0.05 P >0.05 P <0.05 P >0.05
e o F(2,45): 2.63 T30 =0.99 T30 =0.54 T30 =0.46
= O | IV-GFP (KIV) P>0.05 P>0.05 P>0.05 P>0.05




5. Figure 3 Exon-specific BDNF transcription with EET (T1)

Rk age offocts EET Effects | Age EET X Age Post hoc Bonferroni multiple comparisons
o way Effects Interactions EET Effects (EET vs. SCT) Age Effects (ED, YA, OA)
ANOVA ED YA OA EET
ED vs ED vs YA vs
YA OA OA -
= = = Ts=09 T14 =5.0 T14 =4.
= =6.68 T14 =14 T13 2.3 T13 6.1 14
Y TR oY) <0.001 | P>0.05 P <0.001 | P<0.01
WT P <0.001 P <0.01 P <0.01 P>0.05 P>£).(1)50 ? —
I F(1,39) =5.65 F(lZ 39) = 1.47 F(2, 39) = 0.23 T13 =1.2 Tli;) 05 Pli o 05
KIV P <0.05 P>0.05 P>0.05 P>0.(;57 2 .2 T _.4 ;
= 0.61 F 0.61 T14= . 13= 4« 13= 4.
wT 5(243)0()%8'6 113(2>400)05 P(2>400)05 P<0.05 | P<0.05 | P<0.005 —— 53
' = = =3.0 T14:0.3 13~ 4. 13~ <.
lla = =328 | Fn4=176 | Tu=15 | T;3=19 | Ts
P | P 20 .001 | P>0.05 P>0.05 P>0.05
KV P <0.005 P <0.05 P>0.05 = §> 0(2)54 2> 0.(;53 ?j?33
=0.34 F =0. 13~ <. 13 = 9. 13~ <.
wT £(1<43)00f1 ? 113(148)05 P(i400?05 P>0.05 P <0.01 P>0.05
b F(l 40) = 29.2 F(2,40) =2.86 F(2,41) =1.1 T14 =2.7 le = (2)53 ;li; 3.(;‘5
KIV P <0.001 P>0.05 P>0.05 P< 0;)51 2> 0.3 2 _.5 .
= =22 F =22 T13: . 13 = 9. 14 = 9.
w1 5(243)00:1"5'9 113(1400)05 P(i400?05 P>0.05 P<0.05 | P<0.001
: - = = =3.6
lle = =0.51 F =0.12 T14 =3.0 T13 33 T14
KIV 5(24(;)00:1"2'7 113(14(;)05 P(i4(;?05 P<0.05 | P<0.01 P <0.01
F 20.3 F(z 40) = 0.10 F(2,40) =0.10 T13 =22 T13 =28 T14 =28
WT P(1<4([)')001 P >0.05 P>0.05 P>0.05 P<0.05 | P<0.05
= = =3.9
1 = =2.87 F =141 T14 =1.6 T14 1.9 T14
KV Pios | e P(i400)05 P>0.05 P>0.05 P <0.01
s - : = Ti4=09 | Tiy=3.6 | Tiy=24
% F =7.71 F(z 40) = 3.48 F(z 40) = 3.48 T13 =3.2 T13 =19 T14 =0.4 P14 0 05 Pli 0.01 P 0.05
,40) — /- s . s 2o ' -
g W1 P(1< 0301 P <0.05 P <0.05 P <0.01 P>£).05 §“>0(1)53
8 v F =9.23 F(z 40) = =0.11 F(z 40) = =0.28 T13 =2.3 T13 =1.6 14
& KV P(1<’4([)')01 P>0.05 P>0.05 P>0.05 P>0.05 P>0.05
E F(l 22) < 6.10 F(Z, 22) = 0.23 F(Z, 22) = 0.23 Tll =23 T5 =0.85 gG>:01(.)45
WT | p<o.0s P 0,05 P 30,05 P>005 | P>005 .
v = =187 | F =1.60
F 1,21 1.03 F(2,21) . (2,21)
KV P(> 0?05 P>0.05 P>0.05 T s
= =1.36 F =1.36 T14=2. 13= 1. 14 = VU.
w1 5(24(;)018'53 113(146)05 P(i4(;?05 P<0.05 | P>0.05 P>0.05
v F 19.4 F(z 41 = 0.02 F(2,41) =045 T14 =22 T13 =33 T14 =22
KIV P(1<4(;)001 P>0.05 P>0.05 P>0.05 P <0.01 P>0.05
F 113 F(z 41 = 1.36 F(2,41): 1.36 T14 1.8 T13: 1.8 T14:2.2
wT P(1<4(;)01 P >0.05 P>0.05 P>0.05 P>0.05 P>0.05
- = = =2.6
Vila = =0.04 F =0.70 T13 =2.1 T13 3.7 T14
KIV 5(24(;)0()%3'4 113(14(;)05 P(i4(;?05 P>0.05 P <0.01 P <0.05
F =224 F(z 41 = 1.36 F(2,41): 1.36 T14: 1.7 T13=3.3 T14=3.1
wT P(1<’4(;)001 P >0.05 P>0.05 P>0.05 P <0.01 P <0.05
Vil F =213 F(z 41 = 0.97 F(2,41) =0.01 T13 =2.7 T13 =2.6 T14 =2.7
KIV P(1<’4(;)001 P >0.05 P>0.05 P<0.05 | P<0.05 | P<0.05
F =134 F(z 41 = 0.68 F(2,41) =0.68 T14 =14 T13 =29 T14 =2.0
wT P(1<’4(;)01 P >0.05 P>0.05 P>0.05 P<0.05 | P>0.05
' - = = =19
IXa = =0.34 F =1.65 T13 =09 T13 34 T14
KIV 5(243)00;2'7 113(146)05 P(i4(;)05 P>0.05 P <0.01 P>0.05 T I
=0.5 Ti4=1.7 T14=3.1 T14:2.1 14 = 9. 14~ 1.
WT P | P 43)053 5 5(143)053 B gli 0.05 Pli 0.05 P <0.01 P>0.05 P <0.01 P>0.05
= ) } —
e E = 057 89 E =3.52 F(z 37) = 1.02 T13 =2.7 T13 =0.8 T13 =13 T13 =2.6 513 ; (2)52 gli;) 854
: oot & 00s : . >0.05 > 0. .
i KIV P(1<3z)) 01 P <0.05 P>0.05 P< 0;)53 §> 0.(1)57 §>£).(2)51 P
= = Tiu=1. 4= L. 14~ 4.
F 8.55 F(2,42) =0.17 F(2,42) 0.17 14
E WT P(1<4(§)01 P>0.05 P>0.05 P>0.05 P>0.05 P>0.05
S| e =039 | Foa0 =039
o F 1, 40) 331 F(2 40) — (2,40) —
E Kiv P(>005 P>0.05 P>0.05
E =2.26 F 2,42) = =0.12 F(z 42) = =0.12
e WT F1, 42 ( X
= P>0.05 P>0.05 P>0.0 _ ——
= = =0.2 T13 =217 T13 . 14
1Ib = =280 | Fp4=280 | T;3=32 | Tu=05 | Tia
P | P %00 P>0.05 P<0.05 | P>0.05
KIV P(< 0.05 P>0.05 P>0.05 P< 0;)16 §> 0.(1)55 §“>£).(2)53
= = Tiu=1. 4= L. 14~ 4.
F =9.72 F 2,42) = 0.20 F(2,42) 0.20 14
lle WT P(1<’4(;305 P(> 0.05 P>0.05 P>0.05 P>0.05 P>0.05




KIV F(l 41 = =21.2 F(z’ 41) =5.55 F(z’ 41) =5.55 T13 =5.2 T14 =1.8 T14 =0.9 T13 =3.5 T13 =4.4 T14 =0.9
P <0.001 P <0.01 P <0.01 P <0.001 | P>0.05 P>0.05 P <0.01 P <0.005 | P>0.05
WT F(1’42) =5.68 F(2 42) = =0.53 F(2 42) = =0.53 T14 =0.7 T14 =22 T14 1.3
1 P <0.05 P>0.05 P>0.05 P>0.05 P>0.05 P>0.05
KIV F(1’41) =7.92 F(2,41) =1.60 F(2,41) =1.60 T13 =2.7 T14 =1.8 T14 =03
P <0.01 P>0.05 P>0.05 P<0.05 | P>0.05 P>0.05
WT F(l, 42)= 0.48 F(2, 42)= 0.35 F(2, 42)= 0.35
v P>0.05 P>0.05 P>0.05
KIV F(l 41 = =6.43 F(z’ a1 = 3.6 F(z’ a1 = 3.6 T13 =29 T14 =2.1 T14 =0.7 T13 =09 T13 =3.6 T14 =2.8
P <0.05 P <0.05 P <0.05 P<0.05 | P>0.05 P>0.05 P>0.05 P<0.05 | P<0.05
WT F(1’42) =4.8 F(2 42) = =0.37 F(2 42) = =0.37 T14 1.1 T14 =0.8 T14 1.9
v P <0.05 P>0.05 P>0.05 P>0.05 P>0.05 P>0.05
KIV F(1,41):2‘44 F(2,41): 1.90 F(2,41): 1.90 T13 =24 T14: 0.5 T14: 0.2
P>0.05 P>0.05 P>0.05 P>0.05 P>0.05 P>0.05
WT F(l,42) =1.28 F(2 492)~= =0.03 F(2 49)~= =0.03
VI P>0.05 P>0.05 P>0.05
KIV F(1,41): 391 F(2,41):2‘27 F(2,41):2‘27 T13=2.7 T14: 0.9 T14: 0.2 T13 =1.8 T13=2.9 T14: 1.1
P>0.05 P>0.05 P>0.05 P<0.05 | P>0.05 P>0.05 P>0.05 P<0.05 | P>0.05
WT F(l 42) = =7.07 F(2, 42)= 0.06 F(2, 42)= 0.06 T14 =14 T14 =1.4 T14 =1.8
Vila P <0.05 P>0.05 P>0.05 P>0.05 P>0.05 P>0.05
KIV F(1’41) =9.93 F(z’ a1 = 3.5 F(z’ a1 = 3.5 T13 =3.8 T14 =14 T14 =0.2 T13 =24 T13 =3.7 T14 =13
P <0.01 P <0.05 P <0.05 P<0.05 | P>0.05 P>0.05 P>0.05 P <0.01 P>0.05
WT F(1’42) =712 F(2 42) = =0.22 F(2 42) = =0.22 T14 1.0 T14 =1.8 T14 1.8
VIIT P <0.05 P>0.05 P>0.05 P>0.05 P>0.05 P>0.05
KIV F(1’41) =5.24 F(2,41) =0.47 F(2,41) =0.47 T13 =2.0 T14 =1.2 T14 =0.7
P <0.05 P>0.05 P>0.05 P>0.05 P>0.05 P>0.05
WT F(1’42) =6.53 F(2, 42)= 0.10 F(2, 42)= 0.10 T14 =13 T14 =1.3 T14 =1.8
IXa P <0.05 P>0.05 P>0.05 P>0.05 P>0.05 P>0.05
KIV F(1,40: 1.77 F(2,40): 1.7 F(2,41):2‘75 T12=2.5 T14: 1.2 T14: 0.7 TIZ: 1.9 T12=2.9 T14: 1.0
P>0.05 P>0.05 P>0.05 P<0.05 | P>0.05 P>0.05 P>0.05 P<0.05 | P>0.05
b. Genotype x age effects on EET effects
Two-way | Genotype Age Genotype X Post hoc Bonferroni multiple comparisons
ANOVA Effects Effects Age Genot Effect
. ype Effects (WT Age Effects (ED, YA, OA)
Interactions vs. KIV)
ED YA OA WT KIV
ED ED YA ED ED YA
VS VS VS VS VS VS
YA OA OA YA OA OA
F(1,40)= 10.1 F(z, 40) = 9.22 F(z, 40) = 35 Ti3= Ti3= Ty= Tyu= | Tu= | Tu= | Tp= | Ty= | Ta=
I P <0.01 P <0.005 P <0.05 0.04 1.7 3.8 1.4 4.5 3.7 0.85 0.71 1.6
P> P> P< P> P< P< P> P> P>
0.05 0.05 0.01 0.05 0.005 | 0.01 0.05 0.05 0.05
F(1,41):2~26 F(z,41)=3-93 F(2,41):0~39 Ty = Ty = Ti3= Tu= | Tu= | Tu= | Ty= | Tu= | Tu=
I P>0.05 P <0.05 P>0.05 1.1 1.4 0.2 0.01 1.1 1.1 0.2 2.1 2.3
a P> P> P> P> |P> |P> |P> |P> |P>
0.05 0.05 0.05 0.05 0.05 0.05 0.05 0.05 0.05
b F(1,41): 0.26 F(2,41): 0.80 F(2,41): 3.01
P>0.05 P>0.05 P>0.05
Ic F(1,41): 0.01 F(2,41) =2.05 F(2,41) =0.64
" P>0.05 P>0.05 P>0.05
é I F(1,41): 0.05 F(2 41) = =2.03 F(2,41) =1.62
5 P>0.05 P>0.05 P>0.05
a F(1,41): 3.07 F(z, a1 = 6.58 F(z, a1 = 5.21 Ty3= Tis= Tis= Ti3= Tiz= | Tiy= | Tiu= Tis= Tis=
S v P>0.05 P <0.01 P <0.01 2.8 1.7 1.6 1.7 4.7 31 0.5 0.4 0.1
T P< P> P> P> P< P< P> P> P>
0.05 0.05 0.05 0.05 0.005 | 0.05 | 0.05 0.05 0.05
Y, F(1,23): 1.94 F(2, 23) = 2.09 F(2, 23) = 1.23
P>0.05 P>0.05 P>0.05
Vi F(l, 2)= 0.40 F(2, 42)= 1.07 F(2, 42)= 1.14
P>0.05 P>0.05 P>0.05
Vila F(l,4l):0~11 F(2,41):0‘14 F(2w41):0.16
P>0.05 P>0.05 P>0.05
VIII F(1,41): 0.01 F(2,41): 0.20 F(2,41): 1.14
P>0.05 P>0.05 P>0.05
IXa F(1,41): 0.18 F(2,41):2‘20 F(2,41): 0.02
P>0.05 P>0.05 P>0.05




Frontal Cortex

F(1,40): 0.01 F(z, 40) = 0.57 F(z, 40) = 6.47 T = Ty = Ty = Tyu= | Tu= | Tu= | Tp= | To= | Tu=
Exon | P>0.05 P>0.05 P <0.01 2.8 1.2 1.8 1.6 2.7 1.1 24 2.1 0.4
I P< P> P> P> P> P> P> P> P>
0.05 0.05 0.05 0.05 0.05 0.05 0.05 0.05 0.05
a F(1,40): 1.92 F(2, 40) = 0.13 F(2, 40) = 0.77
P>0.05 P>0.05 P>0.05
1Ib F(1,41): 0.06 F(2,41): 1.92 F(2,41): 1.58
P>0.05 P>0.05 P>0.05
F(1,41): 1.05 F(z, a1 = 3.73 F(z, a1 = 5.57 Ty3= Tis= Tis= Tis= Tis= Tis= Ty3= Tiz= | Tiu=
I P>0.05 P <0.05 P <0.01 31 0.1 1.5 1.7 0.7 0.8 3.2 3.9 0.8
¢ p< P> P> p> |P> |P> |P< |P< |P>
0.05 0.05 0.05 0.05 0.05 0.05 0.05 0.01 0.05
I F(1,41):0‘05 F(2,41): 1.18 F(2,41): 1.83
P>0.05 P>0.05 P>0.05
v F(1w41):0.85 F(2,41): 1.10 F(2,41):2‘49
P>0.05 P>0.05 P>0.05
Y, F(1,41): 0.61 F(2,41): 1.04 F(2,41):2‘32
P>0.05 P>0.05 P>0.05
VI F(1,41):0‘35 F(2,41): 1.55 F(2,41): 1.56
P>0.05 P>0.05 P>0.05
F(1,41):0-15 F(2,41):2~08 F(z,41)=3-29 Ti3= Tis= Tis= Tis= Tis= Tis= Ti3= Tiz= | Tiu=
VII P>0.05 P>0.05 P <0.05 2.1 0.03 1.5 0.06 0.4 0.4 2.1 3.2 1.1
a P> P> P> p> |[P> |P> |P> |P< |P>
0.05 0.05 0.05 0.05 0.05 0.05 0.01 0.05 0.05
VIII F(1,41): 0.78 F(2,41) =0.02 F(2,41) =0.91
P>0.05 P>0.05 P>0.05
IXa F(l,4l):2~22 F(2,41): 1.18 F(2w41):2.36
P>0.05 P>0.05 P>0.05




6. Figure 4 Exon-specific BDNF transcription with EET-SCT (T2)
a. EET x age effects

Two-way EET-SCT Age EET-SCT X Post hoc Bonferroni multiple comparisons
ANOVA Effects Effects Age EET-SCT Effects Age Effects (ED, YA, OA)
Interactions (EET-SCT vs. SCT-SCT)
ED YA OA EET
ED vs ED vs YA vs
YA OA OA
WT F(1,41): 0.01 F(2w41):2.89 F(2w41):2.89
I P>0.05 P>0.05 P>0.05
KIV F(l,36):0~62 F(2 36) =2.84 F(z 39~ =4.01 TIZ: 1.2 TIZ: 1.0 T12:2.0 T12=3.6 T14: 1.1 T12:2.5
P <0.05 P>0.05 P <0.05 P>0.05 P>0.05 P>0.05 P<0.05 | P>0.05 P>0.05
WT F(1,41): 1.23 F(2,41):0‘17 F(2,41):0‘17
Ia P>0.05 P>0.05 P>0.05
KIV F(1,39) =0.01 F(2, 39) = 0.57 F(2, 39) = 1.09
P>0.05 P>0.05 P>0.05
WT F(1,41):0‘14 F(2,41):0‘01 F(2,41):0‘01
b P>0.05 P>0.05 P>0.05
KIV F(l, 37) = 0.02 F(2, 37T 0.93 F(2, 3= 2.26
P>0.05 P>0.05 P>0.05
WT F(l 4y = =0.06 F(2 4= =0.09 F(2 4= =0.09
e P>0.05 P>0.05 P>0.05
KIV F(1w3g) =0.27 F(z’ 3IN= 3.59 F(z’ 38) = 5.36 le =29 T13 =12 T13 =09 le =3.7 T13 =3.7 T13 =0.2
P>0.05 P <0.05 P <0.01 P<0.05 | P>0.05 P>0.05 P <0.01 P <0.01 P>0.05
WT F(1,41) =0.29 F(2,41): 0.27 F(2,41): 0.27
1 P>0.05 P>0.05 P>0.05
KIV F(1,39) =0.01 F(2, 39) = 1.14 F(2 39) = =2.12
" P>0.05 P>0.05 P>0.05
a F(l 41y = =0.34 F(2 4= =0.28 F(2 4= =0.28
=l v LYl e=o0s P> 0.05 P> 0.05
8- KIV F(l 40) = =0.14 F(2 40)= =0.38 F(2 40)= =0.38
é‘* P>0.05 P>0.05 P>0.05
WT F(l,lS): 0.01 F(leg): 0.58 F(leg): 0.58
v P>0.05 P>0.05 P>0.05
KIV F(l,lS): 0.11 F(2,18)=3'71 F(2 18)~ =22 TG: 1.9 TG: 0.6 TG: 0.8 TG: 0.7 T6:2~7 T6:2~0
P>0.05 P <0.05 P>0.05 P>0.05 P>0.05 P>0.05 P>0.05 P>0.05 P>0.05
WT F(1,41): 1.40 F(2,41): 0.47 F(2,41): 0.47
VI P>0.05 P>0.05 P>0.05
KIV F(l, 39) = 1.63 F(2, 39) = 1.29 F(2, 39) = 1.29
P>0.05 P>0.05 P>0.05
WT F(1,41) =0.44 F(2,41): 0.27 F(2,41): 0.27
VIla P>0.05 P>0.05 P>0.05
KIV F(1,40) =0.01 F(z’ 40)= 7.22 F(z’ 40)= 7.22 T13 =29 T13 =20 T14 =15 le =4.8 T13 =43 T13 =0.6
P>0.05 P <0.01 P <0.01 P<0.05 | P>0.05 P>0.05 P <0.005 | P<0.005 | P>0.05
WT F(1,41): 0.12 F(2,41): 0.22 F(2,41): 0.22
VIII P>0.05 P>0.05 P>0.05
KIV F(1,40) =1.89 F(z’ 40)= 5.62 F(z’ 40)= 5.6 T13 =3.5 T13 =0.2 T14 1.0 le =3.5 T13 =44 T13 =0.7
P>0.05 P <0.01 P <0.01 P <0.01 P>0.05 P>0.05 P <0.01 P <0.005 | P>0.05
WT F(1,41): 0.21 F(2,41): 0.76 F(2,41): 0.76
IXa P>0.05 P>0.05 P>0.05
KIV F(1,39) =1.77 F(2, 39) = 2.38 F(z’ 39)< 3.69 le =2.7 T13 =12 T14 =0.8 le =34 T13 =1.6 T13 =19
P>0.05 P>0.05 P <0.05 P<0.05 | P>0.05 P>0.05 P <0.01 P>0.05 P>0.05
WT F(l, 40) = 1.09 F(2, 40) = 0.80 F(2, 2)= 0.80
I P>0.05 P>0.05 P>0.05
KIV F(1’41) =4.75 F(z’ 41)= 11.5 F(z’ 41) =11.5 T14 =4.7 T13 =22 T14 =1.4 T13 =6.7 T14 =33 T13 =3.5
P <0.05 P <0.005 P <0.005 P <0.001 | P>0.05 P>0.05 P<0.001 | P<0.05 | P<0.01
F(1,42): 0.10 F(2,42): 0.21 F(2,42): 0.21
L WT | p=0.0s P>0.05 P>0.05
8 KIV F(1,40) =1.62 F(2, 40) = 1.32 F(2, 40) = 2.18
= P <0.05 P>0.05 P>0.05
é WT F(1,42): 0.08 F(2,42): 0.12 F(2,42): 0.12
i b P>0.05 P>0.05 P>0.05
KIV F(1,40) =1.16 F(z 40) — =3.77 F(z’ 40) =5.98 le =33 T14 =1.2 T14 =0.4 T13 =4.2 T13 =33 T14 =0.9
P>0.05 P <0.05 P <0.01 P <0.01 P>0.05 P>0.05 P<0.005 | P<0.05 | P<0.01
WT F(l 42)= =0.37 F(2 92)~= =0.22 F(2 492)~= =0.22
IIc P>0.05 P>0.05 P>0.05
K1V F(l an = 6.49 F(z = 341 F(z an = 341 T13 =23 T14 =0.6 T14 =2.7 T13 =29 T13 =03 T14 =34




P <0.05 P <0.05 P <0.05 P>0.05 P>0.05 P<005 | P<0.05 | P>0.05 P <0.05
WT F(1,42): 0.01 F(2,42): 0.10 F(2,42): 0.10
1 P>0.05 P>0.05 P>0.05
KIV F(l 40) — =2.86 F(z’ 40)= 3.78 F(z 40) — =4.46 le =2.0 T14 =15 T14 =23 T13 =3.1 T13 =0.5 T14 =3.8
P <0.05 P <0.05 P <0.05 P>0.05 P>0.05 P>0.05 P<0.05 | P>0.05 P <0.01
WT F(l 49)~ =0.39 F(z 492)~= =0.12 F(z 492)~ =0.12
v P>0.05 P>0.05 P>0.05
KIV F(1,41) =0.58 F(z’ a= 3.68 F(z’ a1 = 3.68 T13 =2.6 T14 =0.7 T14 =0.6 T13 =33 T13 =3.2 T14 =0.1
P <0.05 P <0.05 P <0.05 P<0.05 | P>0.05 P>0.05 P<0.05 | P<0.05 | P>0.05
WT F(l, 42)= 0.64 F(2, 2)= 0.21 F(2, 2)= 0.21
v P>0.05 P>0.05 P>0.05
KIV F(1,38) =5.59 F(2, 38) = 2.49 F(2, 39) = 3.01 le =2.2 T13 =0.6 T13 =2.5
P <0.01 P>0.05 P>0.05 P>0.05 P>0.05 P>0.05
WT F(l,42) =1.13 F(z 492)~= =0.06 F(z 492)~= =0.06
VI P>0.05 P>0.05 P>0.05
KIV F(1,40) =2.09 F(2, 40) = 2.41 F(z’ 40) = 4.47 le =3.1 T14 =1.0 T14 =03 T13 =3.6 T13 =23 T14 =14
P>0.05 P>0.05 P <0.05 P<0.05 | P>0.05 P>0.05 P <0.01 P>0.05 P>0.05
WT F(1,42):0‘17 F(2,42):0‘10 F(2,42):0‘10
Vila P>0.05 P>0.05 P>0.05
KIV F(l 40) — =6.18 F(z’ 40)= 4.51 F(z 40) — =5.73 le =2.8 T14 =15 T14 =2.7 T13 =3.6 T13 =03 T14 =4.1
P <0.05 P <0.05 P <0.01 P<0.05 | P>0.05 P<0.05 | P<0.01 P>0.05 P <0.01
WT F(1,42): 0.73 F(2,42): 0.10 F(2,42): 0.10
VIII P>0.05 P>0.05 P>0.05
KIV F(1,40): 1.45 F(2,40):2‘19 F(2’40)=3.75 le =2.6 T14: 1.2 T14: 0.5 T13=3.4 T13 =1.8 T14: 1.7
P <0.05 P>0.05 P <0.05 P<0.05 | P>0.05 P>0.05 P <0.01 P>0.05 P>0.05
WT F(1,42): 1.34 F(2,42): 0.16 F(2,42): 0.16
IXa P>0.05 P>0.05 P>0.05
KIV F(l 40) — =2.86 F(z’ 40)= 3.78 F(z 40) — =4.46 le =2.0 T14 =15 T14 =23 T13 =3.1 T13 =0.5 T14 =3.8
P <0.05 P <0.05 P <0.05 P>0.05 P>0.05 P>0.05 P<0.05 | P>0.05 P <0.01
. Genotype x age effects on EET effects
Two-way | Genotype Age Genotype X Post hoc Bonferroni multiple comparisons
enotype Effects ge Effects s s
Interactions vs. KIV)
ED YA OA WT KIV
ED ED YA ED ED YA
VS VS VS VS VS VS
YA OA OA YA OA OA
F(1,40): 0.42 F(z, 40) = 8.66 F(z, 40) = 3.02 Tyu= | Tu= | Tu= | Tp= | Tu= | Tn=
I P>0.05 P <0.005 P>0.05 1.9 2.5 0.7 3.8 1.2 2.7
P> P> P> P< P> P>
0.05 0.05 0.05 0.01 0.05 0.05
lla F(1,40): 0.81 F(2, 40) = 1.57 F(2, 40) = 0.23
P>0.05 P>0.05 P>0.05
1b F(l 40) = =0.01 F(2, 40) = 2.30 F(2, 40) = 1.85
P>0.05 P>0.05 P>0.05
F(l 40) = =0.28 F(z, 40) = 3.62 F(z, 40) = 5.74 Ty3= Tis= Tis= Tis= Tis= Tis= Ty = Tiz= | Tiz=
I P>0.05 P <0.05 P <0.01 31 1.2 1.0 0.4 0.5 0.1 3.7 3.5 0.2
¢ P< |P> P> P> |P> |P> |P< |P< |P>
0.05 0.05 0.05 0.05 0.05 0.05 0.01 0.01 0.05
2 F(1,40):0~11 F(2,40): 1.12 F(z 40) = =4.58 Tis= Tis= Tis= Tis= Tis= Tis= Ty = Ti3= Tis=
& | P>0.05 P>0.05 P <0.05 2.4 1.9 0.0 1.1 0.8 0.3 31 1.7 1.5
g p> |[P> |[P> |[P> |P> |P> |P< |P> |[P>
g, 0.05 0.05 0.05 0.05 0.05 0.05 0.05 0.05 0.05
é" v F(l 40)= =0.18 F(l 40)= =0.11 F(z 40) = =0.97
P>0.05 P>0.05 P>0.05
F(l, 18) = 2.62 F(z’ 18) = 4.62 F(2, 18) = 1.54 T6 = T6 = T6 = T6 = T6 = T6 =
v P>0.05 P <0.05 P>0.05 0.5 0.7 1.2 0.8 31 2.4
P> P> P> P> P< P>
0.05 0.05 0.05 0.05 0.05 | 0.05
VI F(l 40)= =0.01 F(l 40)= =0.27 F(2, 40) = 2.37
P>0.05 P>0.05 P>0.05
F(l 40) = =0.14 F(z, 40) = 6.37 F(z, 40) = 9.95 Tiy= Tis= Tis= Tis= Tis= Tis= Ty = Tiz= | Tiz=
VI P>0.05 P <0.01 P <0.005 3.7 23 0.8 1.0 0.0 1.0 5.0 4.5 0.6
a pP< P> P> P> |P> |P> |P< |[P< |P>
0.01 0.05 0.05 0.05 0.05 0.05 0.005 | 0.005 | 0.05
VIII F(1,40): 1.16 F(z, 40) = 6.15 F(z, 40) = 4.99 Tiy= Tis= Tis= Tis= Tis= Tis= Ty = Tiz= | Tiz=
P>0.05 P <0.01 P <0.05 3.2 0.7 0.7 0.3 0.5 0.8 3.5 4.3 0.7




P< P> P> P> P> P> P< P< P>
0.01 0.05 0.05 0.05 0.05 0.05 0.01 0.005 | 0.05
F(1,40): 0.48 F(1,40): 1.33 F(z,40)= 0.60 Tiu= Tiu= Tiu= Tiu= Tiu= Tiu= Tp= | T;3= Ti3=
IX P>0.05 P>0.05 P<0.01 2.5 2.3 1.0 1.4 0.1 1.4 34 1.6 1.9
a P> P> P> p> |p> |pP> |P< |P> |P>
0.05 0.05 0.05 0.05 0.05 0.05 0.01 0.05 0.05
F(1,41): 0.74 F(z, a1 = 12.3 F(z, a1 = 4.66 Tiy= Ti3= Tis= Tis= Tis= Tis= Ty3= Tis= Ty3=
I P>0.05 P <0.001 P <0.05 2.9 1.4 0.1 1.4 2.2 1.4 5.5 2.7 2.9
P< P> P> P> P> P> P< P> P<
0.05 0.05 0.05 0.05 0.05 0.05 0.001 | 0.05 0.05
lla F(1,41): 1.76 F(2,41):2‘01 F(2,41): 1.90
P> 0.05 P> 0.05 P> 0.05
F(1,41): 0.27 F(z, a1 = 7.61 F(z, a1 = 3.78 Ti3= Tis= Tis= Tis= Tis= Tis= Ty3= Tiz= | Tiu=
b P>0.05 P<0.01 P <0.05 2.5 1.2 0.4 0.8 0.6 0.2 4.4 35 1.0
P> P> P> P> P> P> P< P< P>
0.05 0.05 0.05 0.05 0.05 0.05 0.005 | 0.01 0.05
F(1,41)= 9.88 F(z, a1 = 4.65 F(2,41) =28 Ty3= Tis= Tiy= Tis= Tis= Tis= Ty3= Ti3= Tiy=
I P<0.01 P <0.05 P>0.05 29 0.1 2.6 0.0 0.8 0.7 3.0 0.3 34
¢ P< P> P< P> |P> |P> |P< |P> |P<
0.05 0.05 0.05 0.05 0.05 0.05 0.05 0.05 0.01
I F(1,41): 0.05 F(2,41): 1.51 F(2,41):2‘37
P> 0.05 P> 0.05 P> 0.05
5 F(1,41): 0.00 F(2,41): 1.50 F(z,41)=3-72 Ti3= Tis= Tis= Tis= Tis= Tis= Ti3= Ti3= Tis=
‘g v P>0.05 P>0.05 P <0.05 2.2 1.1 1.2 0.6 0.6 0.1 2.7 2.7 0.1
O P> P> P> P> P> P> P> P> P>
g 0.05 0.05 0.05 0.05 0.05 0.05 0.05 0.05 0.05
8 Y, F(1,39): 1.69 F(2, 39) = 2.39 F(2, 39) = 2.72
= P >0.05 P >0.05 P >0.05
F(1,41): 0.00 F(2,41):2~83 F(z,41)=3-97 Ti3= Tis= Tis= Tis= Tis= Tis= Ty3= Ti3= Tis=
VI P>0.05 P>0.05 P <0.05 2.2 1.6 1.2 0.2 0.6 0.2 3.6 2.3 1.3
P> P> P> P> P> P> P< P> P>
0.05 0.05 0.05 0.05 0.05 0.05 0.01 0.05 0.05
F(1,41): 2.93 F(z, a) = 4.52 F(z, a) = 4.96 Ti3= Ty = Ty = Tyu= | Tu= | Ty= | Ty= | Tiz= | Tu=
VIIL P>0.05 P <0.05 P <0.05 2.3 1.6 2.2 0.4 0.6 0.2 35 1.7 39
a P> P> P> P> |P> |P> |P< |P> |P<
0.05 0.05 0.05 0.05 0.05 0.05 0.01 0.05 0.01
F(1,41): 0.00 F(2,41) =195 F(z, a1 = 3.74 Ti3= Tis= Tis= Tis= Tis= Tis= Ty3= Ti3= Tis=
VIII P>0.05 P>0.05 P <0.05 2.0 1.8 0.3 0.6 0.6 0.1 33 1.7 1.6
P> P> P> P> P> P> P< P> P>
0.05 0.05 0.05 0.05 0.05 0.05 0.01 0.05 0.05
F(1,41): 0.07 F(2,41) =2.87 F(z, a1 = 4.25 Ti3= Tis= Tis= Tis= Tis= Tis= Ty3= Ti3= Tiy=
IX P>0.05 P>0.05 P <0.05 1.3 2.2 1.3 0.7 0.6 0.1 2.8 0.5 35
a P> P> P> P> P> P> P< |P> P<
0.05 0.05 0.05 0.05 0.05 0.05 0.05 0.05 0.01




